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abstract

We already know the distribution of non trivial zeros in the Riemann hypothesis, and there is a
formula for calculating counterexamples. The first counterexample can be obtained using a
computer, and its value is s=0.383+15786867949799975i

Firstly, we need to predict the position of the counterexample until s=0.5+10 * 28i, before the
first negative value appears
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Fortunately, we don't need such a large value and can still obtain zero. Through my continuous
attempts, | have found at least 5 counterexamples of non trivial zeros between s=0.5+10 * 16i
and s=0.5+10 ~ 28i. But between s=0.5+10 ” 2i and s=0.5+10 " 16i, no matter how hard | tried
hundreds of times, | couldn't find it. Among all the counterexamples found, the smallest one is

the following one
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That is to say, the first counterexample of the Riemann hypothesis is between
$=0.5+157868679499974i and s=0.5+157868679499975i

So, we can calculate the exact value of the counterexample, which s
s=0.383+15786867949799975i
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